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PART B — (5 x 16 = 80 marks)

11. Answer both (a) and (b) for Question No. 11 :
(2)

Read the following passage and answer the questions given below:

Reading is. becoming more and more important in the new knowledge
economy and remains the most effective human activity for transforming

information into knowledge.

If top readers read at speeds of above 1000 words per minute (wpm) with
near 85% comprelension, they only represent 1% of readers. Average
readers are the majority and only reach around 200 wpm with a typical
comprehension of 60%. This seems surprising since most readers, actively
reading work documents, newspapers, magazines, books or the contents
of a computer display are practicing daily for at least one hour. With such

an intense training everyone should be close to top performances.

Unfortunately, this is far from the real situation. The average reader is
five times slower than the godd yeader. Things are even worse if we
consider reading efficiency as well as speed. Reading efficiency is reading
speed weighted by comprehension rate and it amounts to 200 x 60% or
120 efficient words per minute (wpm) for the average reader and to
1000 x 85% or 850 ewpm for top readers. Thus, an efficiency ratio of

seven divides these two categories.

Compare the results of the average reader to other areas. We may
imagine a sprinter practicing every day for several years on the running
track and then just calmly walking for a race. We can also picture a
racing driver never exceeding 30 mph or a pianist playing every day of
the week for 20 years and only able to play music like a beginner.
Unfortunately, since the age of 12, most readers do not substantially

improve their efficiency and never reach their full capacity.
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12.

OIL COMPANY PROFITS

The following table shows the net income of Oil Companies from t.;he year
2008 to 2012. This income is total revenue minus all costs of operation,
interest on debt, and taxes. Net income is the amount available to
management to use for providing a return to shareholders. Net incomes
of five major oil companies generally follow the behaviour of oil prices.

There were losses due to o1l spill or war in these ‘years.

Table: Net Income of the Five Major Oil Companies
2008 2009 2010 2011 2012

ExonMobil 40,610 45,220 19,280 30,460 41,060
Chevron 18,688 23,931 10,483 19,024 26,895
BP 0il 17,287 25593 16,578 -3.719 25,700

Royal Dutch Shell 27,564 26,277 12,518 20,127 28,625

ConoPhilips 11,891 16,998 4,858 11,358 12,436

Total 1,16,040 1,04,023 63,717 77,250 1,32,916

(a)

Source: Qil Daily, Oil Business Magazine, Oil Gazette
Read the following passage and answer the questions given below :

~ Hybrid Vehicles

A hybrid vehicle is a vehicle which uses two or more kinds of propulsion. -
Most hybrid vehicles use a conventional gascline engine as well as an

electric motor to provide power to the vehicle. These are usually called .
hybrid—electric-‘vehicles, or HEVs. Hybrids use two types of propulsion in
order to use gasoline more efficiently than conventional vehicles do. Most
hybrid vehicles use the gaséline engine as a generator which sends power
to the electric motor. The electric motor then powers the car. In

conventional vehicles, the gasoline engine powers the vehicle directly.

9 27298




QU

)]




Since hybrid vehicles use less gasoline than conventional vehicles, they

14
put fewer emissions into the atmosphere than conventional vehicles do.

As hybrids become more popular, conventional vehicles are being used

less, and the level of emissions being put into the air is decreasing.

Hybrid vehicles are an example of an energy-efficient technology that is

good for both consumers and the environment,.

0

(i1)

(i)

Write a short summary of the above given passage in not more than

.

80 words. (6)

Complete the following sentences with NO MORE THAN THREE

- WORDS )

(1) HEVs use two type of propulsion mainly in order to

(2) Hybi'id vehicles are more socially responsible vehicles to

operate because

(3) In regenerative braking system, the energy lost

(4) One of the drawbacks of hybrid vehicles is ———
Answer the following questions in two sentences : Bx2=6)
(1) How is a hybrid vehicle different from conventional vehicle?
@) Why are h-ybrid vehicles gaining popularity 1'10wadays?

(8) What are the major benefits in using hybrid vehicles?

Or
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(b) Read the following passage and answer the questions given below :
Canary Islands Earthquake Could Trigger Monster Tsunami
The eruption of a volcano in the Canary Islands could trigger a

“Inega-tsunami’ that would devastate Atlantic coastlines with waves as

high as 330 feet, afcienﬁst's said on Wednesda}_ ‘hey an eruption of
. .thg Cumbre Vieja volcano on La Palma, part of the S
off West Africa, was Iikely to cause a massive chunk of rock to
crashing into the sea and kicking up huge walls of water higher than an;
other in recorded history. 0l 3
The tsunami would be capable of traveling huge distances at up to
'500 miles an hour, the scientists sa1d in a research paper to be published

in September’s Geayhymeal Research Letters. Simon Day, of the Benfield

Greig Hazard Research Centre at the University College of London, said

could‘plé-m an eﬁeqnvgzespmse,he sald
“Eruptions of CumBmVieja oceur at intervals of decades to a century or
so and there may begfnumber of eruptions before its collapse”, said Dﬁzg:v
who co]]aboratetie’nzﬁe research with Steven Ward. o'f’
California. “Althongh the year-to-year probability ¢
therefore low, the res;gﬁng. tsunami would be a maj

indirect effects around the world”.
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WEST SAHARA TO BEAR BRUNT
_The effects would spread north, west and south of the Canaries, with the
west Sahara bearing the worst of the wave’s energy. The energy released
by the collapse would be equal to the electridty consumption of the entire
United Stateés in half a year. Immediately after the iandslide, a dome of
water 93,000 feet high and tens of miles wide would.form, only to collapse

and rebound.

As the landslide rubble moved deeper under water, a tsunami would
develop. Within 10 minutes, the tsunami would have moved a distance of
almost 155 miles. On the west Saharan shore, waves would probably
reach heights of 330 feet.

Florida and the Caribbean, the final north Atlantic destinations to be
affected by the tsunami,' would have to brace themselves for 165 foot
waves some eight to nine hours after the landslide.

Wave heights toward Europe would be smaller, but substantial waves
would hif the coasts of Britain, Spain, Portugal and France. The research
paper estimated water would penetrate several miles inland and that the
devastation would cause trillions of dollars in damage.

‘() Write a short summary of the above given passage in not more than
80 words. : . (6)

(i) Complete the following sentences with NO MORE THAN

WORDS 4)
(1) When Cumbre Vieja volcano erupts

(2) The energy released during the éruption would be

(8) ——————— would bear the worst if the Cumbre Vieja

volcano erupts.

(4) The time taken for the tsunami to move nearly 150 miles are
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13.

(2)

(b)

(iii) Answer the following questions in 2 sentences : Bx2= (5),
(1) How would a volcano in Canary islands create a tsunami?

(2) What does the research conclude about the impact of Cumbre
Vieja volcano eruptmn" -

(3) Describe the tsunam). caused by the Cumbre Vie]a voleano
eruption.

You have been called for an interview for a post of Management Trainee
in one of the multinational companies which had come to your eol!ege for

placement. Write the dialogue that would happen m the interview
between you and the HR Executive. Assume that you have already
cleared: the written test and you are ready to work in any city. The first
two dialogues are given for your reference. : (16)

HR Executive: Why are you taking up a job instead of doing your higher
studies?

You: I would like to work for a few years and get some
industry experience before going for higher studies.

You should have minimum of eight interactions (16 sentences) between
vou and HR Executive. 3

Or

You have recently become the Secretary of Robotics club in your college.
You find the club using outdated documentation procedure. As a new
Secretary of the Club, try to convince your Staff Co-ordinator to use
advanced technology. This can make the job easier and fasﬁegmﬁ!lﬂhxb‘
activities. The first interaction is given for your reference. £ 23 (16)

Staff: When our traditional way of documentation has been effective so

long, why should ‘we go in for new methods? =

You: Sir, our traditional methods were effective wheui we had a few
students. But today we have hﬁnd_réds of students joining our
club.

You should have minimum of eight interactions (16 sentences) between
you and the Staff Co-ordinator.
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14. (a) Respond to the following advertisement with a job application letter and
a resume. (16)

ENGINEERS REQUIRED

A well reputed Construction Company based at Mumbai
requires the following personnel to be posted all over India.

| Project Manager 1 | BE. CSEAT
3-5 years experience in Programming

: Production 1 | B.E. Mechanical
Manager 3 years experience in Production

Materials Manager | 1 | B.E. Mechanical/Material Science
E Freshers can apply

Quantity Surveyor | 3 | B.E. Civil
: 2 years experience in construction

Candidates should also possess a strong drive for
achievement, meet goals on time, able to work in teams and
focus on long term.

If you think you have all that what we are looking for, mail
your CVs to Mr. Rishab Patel, HR Manager, IBMsoft, Pritvi
Avenue, Gandhi Marg, Mumbai 400 009 within 7 days after
the publication of this advertisement. Only shortlisted
candidates will be called for interview.

The Hindu
April 15, 2014

J | | >
(b) You have been working as a Software Engineer in a company called

‘MacText Services’ in Chennai for last three years. You come to know

there is going to be a vacancy~fof Programming Head post in Bangalore
-branch. Write a letter of application to your Managing Director based in
Mumbai evincing your interest for the post. List your achievements in
your resume and outline what would you do if you were given the post. In

your letter persuade your MD to consider you for the post. (16)
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